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QUESTION 1

To create REST services, you are required to deploy an enterprise service bus due to the need for inherent message
routing functionality. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

A namespace can be considered a form of: Select the correct answer. 

A. unique identifier 

B. redundant identifier 

C. duplicate identifier 

D. Namespaces are not identifiers; they are always pre-defined values that we are required to work with. 

Correct Answer: A 

 

QUESTION 3

Which of the following statements is true? Select the correct answer. 

A. WS-ReliableMessaging standardizes reliability levels associated with databases required to persist state data. 

B. WS-ReliableMessaging standardizes the issuance and delivery of positive and negative acknowledgement
messages. 

C. WS-ReliableMessaging standardizes SOAP headers related to atomic transactions with rollback features. 

D. WS-ReliableMessaging standardizes the expression of service composition logic, but only for SOAP-based Web
services. 

Correct Answer: B 

 

QUESTION 4

Which of the following statements are true? SELECT ALL THAT APPLY 

A. A service can exist as a component. 

B. A service can exist as a SOAP-based Web service. 
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C. A service can encapsulate one or more components. 

D. A service can encapsulate one or more SOAP-based Web services. 

Correct Answer: ABC 

 

QUESTION 5

The amount of services participating in a service activity, the duration of the service activity, the amount of service
activity instances that concurrently exist, and rules associated with the service activity are all examples of: Select the
correct answer. 

A. design-time data that is defined via the WSDL data definition language 

B. runtime data that is expressed as part of a WSDL service operation definition 

C. state or context data that can be managed using WS-Coordination 

D. repository resource data that can be managed using WS-Policy via persistence in a database for longterm storage 

Correct Answer: C 
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